

Houghton Mifflin Harcourt

Cost Proposal Prepared For Duluth Isd 709

> 215 N 1st Ave E Duluth MN 55802

Attention: Joan Lancour joan.lancour@isd709.org

For the Purchase of:

Math Expressions 2009

This Proposal contains Product that will be fulfilled through Follett Education Services

Prepared By Rick Hanson rick.hanson@hmhco.com

PLEASE SUBMIT THIS PROPOSAL WITH YOUR PURCHASE ORDER.



Proposal for Duluth Isd 709 Math Expressions 2009

	SBN Title			Sale -		chase	
				Price	Quantity	Amount	
<u>Grade</u>							
	Student						
1037122	9780547057095 Math Expressions Student Act Level K 2009	tivity Book Softcover, Volume 1	*	\$15.85	397	\$6,292.45	
1037606	9780547060774 Math Expressions Student Act Level K 2009	tivity Book Softcover, Volume 2	*	\$15.85	285	\$4,517.25	
	Total for Student					\$10,809.70	
Total for Grade K						\$10,809.70	
Grade	<u>e 1</u>						
	Student						
1037143	9780547057170 Math Expressions Student Act Level 1 2009	tivity Book Softcover, Volume 1	*	\$15.85	330	\$5,230.50	
1037600	9780547060682 Math Expressions Student Act Level 1 2009	tivity Book Softcover, Volume 2	*	\$15.85	326	\$5,167.10	
	Total for Student					\$10,397.60	
Tota	Il for Grade 1					\$10,397.60	
Grad						-	
	Student						
10074 **				A15 05	500	#0.071.10	
1037144	9780547057224 Math Expressions Student Act Level 2 2009 9780547060705 Math Expressions Student Act		*	\$15.85 \$15.85	566 526	\$8,971.10 \$8,337.10	
1007001	Level 2 2009	avity Book Concover, volume 2	*	ψ10.00	520	ψ0,007.10	
	Total for Student					\$17,308.20	
Tota	I for Grade 2					\$17,308.20	
Grade	<u>e 3</u>						
	Student						
1037145	9780547057255 Math Expressions Student Act Level 3 2009	tivity Book Softcover, Volume 1	*	\$15.85	338	\$5,357.30	
	Total for Student					\$5,357.30	
Tota	Il for Grade 3					\$5,357.30	
Grade						ψ 0,007.00	
	<u>Student</u>						
1037146	9780547057262 Math Expressions Student Act	tivity Book Softcover, Volume 1	*	\$15.85	205	\$3,249.25	
1037604	Level 4 2009 9780547060750 Math Expressions Student Act	tivity Book Volume 2 Grade 4	*	\$15.85	214	\$3,391.90	
	Total for Student		*	ψ10.00		\$6,641.15	
	Il for Grade 4						
Grade						\$6,641.15	
	e s Student						
	Sludent						
1037147	9780547057279 Math Expressions Student Act	tivity Book, Volume 1 Grade 5	*	\$15.85	310	\$4,913.50	
	Total for Student					\$4,913.50	
	Houghton Mifflin Harcourt	★ Represents Follett Exclusive Title Attention: Joan Lancour joan.lancour@isd709.org				9205 South Pa Orlando,	Experience rk Center Loop FL 32819 -269-5232
	HMH Confidential and Proprietary 005619858 Sold:0000142804 Ship:0000142842 Page 2 of 4			-		k12orders@	

Proposal for Duluth Isd 709

Math	Expressions	2009
------	-------------	------

		Sale	Purchase		
ISBN	Title	Price	Quantity	Amount	
Total for Grade 5				\$4,913.50	
Proposal					
Summary					
	Subtotal Purchase Amount:		\$55,427.	45	
	Shipping & Handling (0.00%):		\$0.	00	
	Total Cost of Proposal (PO Amoun	t):	\$55,427.4	45	



* Represents Follett Exclusive Title Attention: Joan Lancour joan.lancour@isd709.org

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhpub.com

005619858 4/7/2016

Proposal for

Duluth Isd 709

Math Expressions 2009

Total Cost of Proposal (PO Amount): \$55,427.45

This is a cost proposal only. Orders submitted under this proposal on or before the expiration date are subject to acceptance at Houghton Mifflin Harcourt's main office and are subject to the applicable terms in Houghton Mifflin Harcourt's invoice issues for such order.

Date of Proposal: 4/7/2016

Proposal Expiration Date: 5/22/2016



Prices: Prices quoted are wholesale school prices and do not include transportation charges unless otherwise stated in this proposal. These wholesale school prices apply to the educational customers of Houghton Mifflin Harcourt. Prices quoted are valid for orders submitted on or before the expiration date set forth in the proposal.

Educational customers are billed at wholesale school price, f.o.b. shipping point, with a prepaid transportation charge and, unless the customer specifically requests otherwise, a charge for our guarantee of delivery is added to the invoice when shipped via U.S. Postal service. For educational customers preferring f.o.b. destination billing, ten and a half percent (10.5%) of wholesale school price is added and we pay transportation charges and guarantee delivery. Prices do not include any sales tax. Applicable sales tax, if any, will be added to the invoice unless an appropriate tax exemption certificate has been furnished to Houghton Mifflin Harcourt.

Upon receipt of purchase order, gratis items will be shipped in direct proportion to pupil materials purchased. If purchases vary from those included in this proposal, gratis items will change accordingly. Gratis items may also change if purchase is other than a direct school district to publisher order, such as via a third-party vendor or jobber.

